# 17T F ®E K

2024%F FIHERBEBI 7 -GOTHREAVAFREXRE BRALFYy—EUS— 202454878
No. BA%R fE #ETRS SR Hig- EIT% J07-t—-b  FEH
8:00:00 (10:00) FHi53
8:10:00 (40:00) EF=2{t 7O7—BK
8:50:00 (5:000 TAT7—&FF
8:55:00 (5:000 FSEES~BEZERN
1 9:00:00 (13:.000 4FJISUKRL =7 RAUH—KCHk 1F%2E 24%B(18UP) (BH) WT
2 91300 (13:000 JISURL=F7 RAUH—FB# 1% 28%8(24UP) (8H) TF
3 92600 (13:00) JISURLZT RAVE—RA#K 1% 194H(12UP) (2H) WTQ
4 9:39.00 (8:40) TSR Z=F REAVHE—KCH# 2 i 18%8(12UP) (2H) WT
5 94740 (8:40) HISURLVZT RAUH—KB# 2 F& 24%8(12UP) (2H) TF
9:56:20 (5:000 TLAYEAL
6 10:01:20 (4:20) 4HSURL=T7 RAUF—FD# HE R P 3#A(3UP) (1H)  WT
7 100540 (4200 4TSRS =T7 REVA—KCHR HE R P 12%8(6UP) (1H)  WT
8 10:10:00 (4200 4HFSURL=F7 RAVHF—KB#k HE R P 12%8(6UP) (1H) TF
9 10:1420 (6:30) HJIURL=F7 RAVE—RARK RS 12#8(6UP) (1H)  WTQ
10 10:220:50 (4:20) HSUKRV=T7 RAVHE—KD#H RO 3#BUIE LD (1H)  WT
11 10:225:10 (4200 4HIRL =7 RAUHF—KCH#k RO 6#B(IB L) (1H)  WT
12 10:29:30 (4200 HSURV=7 RAVE—FB#k RO 6#B(IB L) (1H) TF
13 10:33:50 (14:30) 4HJSURV=T7 RAVF—FA#R RO 64A (B 1L) (1H)  WTQ
10:48:20 (5:000 A7—FR~BBEEBEN
14 10:53:20 (13:00) <=7 RAVA—KRCH# 1%E 25%A(18UP) (8H) TF
15 11:06:20 (13:00) <=7 RAUA—KB#k 1%E 28%#H(24UP) (3H)  WF
16 11:19:20 (13:00) <=7 RAVA—FA#R 1F2E 1748(12UP) (2H)  WTF
17 11:32:20 (6:00) =7 RAVA—FCH# 2 FE 18%H(12UP) (2H) TF
18 11:38:20 (20:00) <=7 RAVAZ—KB#k 2FE 24%H(12UP) (2H)  WF
11:58:20 (10:40) TLAUBAL
19 12:09:00 (4200 <=7 RAVAZ—KD#HK HE R P 6#8(6UP) (1H)  WT
20 12:13:20 (4:20) =7 RAVHE—KCH HE R P 12%8(6UP) (1H) TF
21 12:17:40 (4200 <=7 RAVEZ—KB#k HE R P 12%8(6UP) (1H)  WF
22 12:22.00 (6:30) =T RAVHE—FA#R HE R P 12%8(6UP) (1H)  WTF
23 12:28:30 (4:200 =7 RAUA—KD#k RO 6#A(IE L) (1H)  WT
24 12:3250 (4:20) =7 RAVA—KCH# RO 648 (B L) (1H) TF
25 12:37:10 (4200 <=7 RAVAZ—KB#k RO 6#A(IE L) (1H)  WF
26 12:41:30 (14:30) <=7 RAVH—KA#K R OB 6#A (B L) (1H)  WTF
12:56:00 (6:00) GY=—T7Af-L=—T7A#H EEE FF—42X
13:02:00 (20:00) xEK
13:22:00 (30:000 ZAO7—RK
13:5200 (5:000 TA7—FRF~BHEEBN~
27 13:57.00 (840) 4HIUKRI=TF STUTA)HUBHK 1%# 174#8(12UP) (2H) ©CS
28 14:05:40 (13.00) 4HFSUKL=7 STUFTA)HUARK 1%& 16%8(12UP) (2H) CRP
29 14:1840 (4200 HSUF=F STUFTHA)HhCHR HE R B 4%A(4UP) (1H) CR
30 14:23.00 (4200 4HISKL=F STUFTA)HUBHK HE R P 1248(6UP) (1H)  ¢CS
31 14:27:20 (6:30) TSR =ZTF STUTAIAUARK RS 1248(6UP) (1H)  CRP
32 14:3350 (4200 HOSURLZT STUTAYHUCHR R’OB A$A(IE L) (1H) CR
33 14:38:110 (4200 HSURL=F STUTFTAJHUBHR RO 6#B(IE L) (1H) cCSs
34 14:42:30 (14:30) TSRS =F7 STUT AN AR RO 6#B(IE 1) (1H) CRP
14:57:00 (5:000 7JO7—FR~BHXEEN
35 15:02.00 (4:20) =7 STUTA)HhUBH 1F:#E 19%H(12UP) (1H) CR
36 15:06:20 (6:30) =T TTUTA)HhUA#R 1%# 15%0(12UP) (1H)  CSR
37 151250 (4:20) =7 STUTFTA)HD#k HE R P 3#A(3UP) (1H) CR
38 15:17:10 (4:20) =7 STVTA)H2CH HE RS 3#H(3UP) (1H)  GCS
39 15:21:30 (4:20) =7 STUTAHB#H HE TR g 1248(6UP) (1H) CR
40 15:2550 (6:30) =T STVTAHUARR HE R B 1248(6UP) (1H) CSR
41 15:32:20 (8:40) O RAVA—F AFEBEE RIS 4%8(4UP) (1H)  WTFQ
15:41:00 (5:00) TLAYZAL
42 15:46:.00 (4:20) =7 STUTFA)HDIk RO SHAIESL) (1H) CR
43 1550:20 (4:200 =7 STUTHA)HhCH RO S#AIELL) (1H) CS
44 155440 (4:20) =7 STUTA)HUBHK RO 6#A(IE{L) (1H) CR
45 15:59:00 (14:30) =7 STUTHAIAA#K RO 6#B(IB L) (1H) CSR
46 16:13:30 (13:40) O RAVA—F 4FEBE RO A%A (B L) (1H)  WTFQ
16:27:10 (6:00) GU=T7A#K-=7AR-TO4EEE BEE A H—452R
16:33:10 (20:00) F*E R
#]T 16:53:10 (BEAR—ILIIL—LFRER 7R)—MER)
Ldbr i
G =7ST 8:10~ 840 G =FLA 9:30~12:00
= FPST 8:40~10:00 SZTLA 9:30~14:00
ZasT 12:00~14:30



freshsnow
長方形

freshsnow
ハイライト表示

freshsnow
ハイライト表示




